0-107 0000000000000 @DO210090)

O
(
SC
)
1
6 1 323
1.7 2
(
5 1:.06 4:37 211
) 1:11 4:42 211
4 0:57 434 217
75m 028 450 242
4
10 ni/h
/mm2
/mm2
vl THRI =5 -
e = _ 511 300mm
= gz T
| —
[ -oEmYT TR
i [ ﬂﬁ[. ]
o I
100-0005 11 5 03- 3214- 4672

-213-



0-107 0000000000000 @DO210090)

10 m/
40 i 4 80 i/

75
1.8

93 1998.10
(2006.4)

38 T ;

So0 ‘#
2 4

1
1
*
36 s» M
0'*‘ N .

*

300mm >

|
] |
] |
1 |
1 |
I |
I |
70+ 5 i
1 |
1 |
T T
I |
] |
1 |
1 |
1 |

/i) x *
W ws / 50 60 70 80

H 400 26.0 | 486 40.1 175 438 235 702 767 | 0263 [ 210

Ayl x

w/ w/ /

BB 311 | 300 | 508 | 47.3 | 165 530 20 | 403 | 403 | 810 [ 0250 [ 1.90

olafslw -

-214-



